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Plate Girder

A Plate Girder is a type of girder made by welding a vertical
rolled steel plate (called the web) and top and bottom horizontal
steel plates (called the flanges)
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Chicago Northwestern plate girder bridge over
the Burlington Northern near South Morrill, NE




Steel plate girder with full penetration butt welding

Plate Girder Cross Sections
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Cover plates

Typical components of riveted plate girder
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Flange plates

Typical components of welded plate girder
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Cover-plated Beams (anuseiutnaniia)
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Built-up Beam (Aa1uusenav)
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A; = Area of Flange

Built-up W sections: h/t, < 6,360/ /F

Plate girder: h/t, > 6,360/ F,
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Stiffener required: h/t, > 260




Allowable Shear Stress: F,

For beam with h/t, < 3,179/ JFy (most sections)
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